PURCHASE ORDER No. 002220128 Customer: J. Heyrovský Institute of Physical Chemistry of the CAS, v. v. i. Dolejškova 2155/3, 182 23 Prague 8, Czech Republic VAT No.CZ61388955 Supplier: Delivery address: VAT: DE129442088 J. Heyrovský Institute of Physical Chemistry of the CAS, v. v. i. Contact: Thorlabs GmbH Phone: Münchner Weg 1 Requested delivery date ex stock 85232 Bergkirchen **Delivery term** DAP Prague 8 (INC2010) **GERMANY** Project No. **Total Price** We order: items according to your Quotation No. MQ251474 in the attachment. 3 911,48 incl. handling and transport charges upto DAP Prague 8. 3 911,48 EUR Expected total amount (without VAT) IMPORTANT: 1. The Names of the contact persons should NOT be shown in the billing address 2. Please always indicate the Purchase Order number (Delivery documents, Invoice) 3. Billing Adress equals "Customer" and "Delivery Adress" 4. Contact person for the shipping agent/courier: 5. SINGLE SHIPMENT REQUIRED Would you be so kind to send me the Link for tracking the package after you will dispatch it. Due to INTRASTAT REPORTING it is necessary to indicate the following data in the Invoice or in the Packing List: Customs Tariff No. (HS Code) - No. of pcs. - Ntto weight - Country of Origin - Country of Despatch To enclose Data Safety sheet in case of dangerous cargo. At the same time we would like to ask you for sending us your order confirmation. We would like to inform you that since February 2010 a new Act No. 284/2009 Coll. of payments is valid which prohibits us to pay the bank charges of foreign banks. This Act incorporates the relevant provisions of the European Communities - Directive of the European Parliament and Council 98/26/EC of 19 May 1998 on settlement finality in payment and settlement of securities - Directive of the European Parliament and Council 2000/46/EC of 18 September 2000 on the business of electronic money, pursuit and prudential supervision of the activities - Directive of the European Parliament and Council 2007/64/EC of 13 November 2007 on payment services in the internal market and amending Directives 97/7/EC, 2002/65/EC, 2005/60/EC and 2006/48/EC and repealing Directive 97/5/EC and follows directly applicable regulation of the European Communities - Regulation of the European Parliament and Council Regulation (EC) No. 2560/2001 of 19 December 2001 on cross-border payments in euro. PAYMENT TERMS: 30 days net after date of invoice, wire transfer Date of issue :20.04.2022 PRO.FA Intrastat **JSD** Registr smluv

Date of issue :20.04.2022

Set up : PRO.FA FA Intrastat JSD Registr smluv

ANO NE

stamp, signature



Münchner Weg 1 • 85232 Bergkirchen • Germany

Quotation MQ251474

Bill to:

Ustav Fyzikalni Chemie J. Heyrovsky AV CR,v.v.i.

Dolejskova 2155/3 182 23 Praha 8 Czech Republic Date: 19/04/2022 Expiration Date: 19/05/2022

Number: MQ251474-1
Your Reference: N29W682927
Payment Terms: Net 30 days
Sales Contact: Samy Said

Mode of Delivery: UPS Std. CO2 Neutral

Terms of Delivery: Free Carrier Invoice Account: 320756
Your VAT No. CZ 61388955

Ship to:

J. Heyrovsky Institute of Physical Chemistry

Dolejskova 3 18223 Prague Czech Republic

Attention:

	Item# / Description	Quantity	Unit Price	Amount	Ship Date
1	CDFW5/M Metric Manual 5 Position 30mm Cage Dichroic Filter Wheel RoHS: Compliant ECCN: EAR99 EU Control: Not-Listed	1.00	617.05	617.05	19/04/2022
2	LTFW6 Light Tight Filter Wheel, Six Positions RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	2.00	354.89	709.78	19/04/2022
3	MNWHL4 Mounted LED @ Neutral White 4900K REACH: SVHC Free RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	148.28	148.28	19/04/2022
4	SM1T2 Lens Tubes Couplers 1.035-40 Threaded OD REACH: SVHC Free RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	2.00	20.07	40.14	19/04/2022
5	CP33/M Metric Threaded Cage Plate REACH: NoSVHC_219 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	5.00	16.53	82.65	19/04/2022
6	CP33T/M Metric SM1 Threaded 30.0mm Cage Plate REACH: NoSVHC_219 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	2.00	22.76	45.52	19/04/2022



Number: MQ251474-1

Page 2 of 3

Münchner Weg 1 • 85232 Bergkirchen • Germany

	Item# / Description	Quantity	Unit Price	Amount	Ship Date
7	SM1SMA SM1 Series Fiber Adaptor REACH: 231-100-4 RoHS: Exempt6(c) ECCN: EAR99 EU Control: Not-Listed	4.00	28.52	114.08	19/04/2022
8	OT1 Objective lens turret for 4 RMS threaded objective RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	317.60	317.60	19/04/2022
9	ACL2520U-DG6 Aspheric Condenser Lens, NA=0.61, Ø25 mm, f=20 mm, 600 Grit REACH: NoSVHC_223 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	18.24	18.24	19/04/2022
10	LA4647-UV-ML Mounted UVFS Plano-Convex Lens, Ø1/2", f = 20mm, -UV RoHS: Compliant ECCN: EAR99 EU Control: Not-Listed	1.00	118.97	118.97	19/04/2022
11	CP32/M Metric SM05-Threaded 30.0mm Cage Plate RoHS: A (compliant 2011/65/EU) ECCN: EAR99 EU Control: Not-Listed	2.00	17.53	35.06	19/04/2022
12	C6WR 30.0mm Cage Cube with ER Clearance Holes REACH: NoSVHC_219 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	2.00	63.01	126.02	19/04/2022
13	SP01 Blank Compact Cage Plate RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	2.00	15.37	30.74	19/04/2022
14	B1C/M Blank Cover Plate REACH: NoSVHC_219 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	4.00	18.55	74.20	19/04/2022
15	SP05/M 30mm to 16mm Cage Adapter Plate RoHS: A (compliant 2011/65/EU) ECCN: EAR99 EU Control: Not-Listed	1.00	32.32	32.32	19/04/2022
16	B3C/M Rotatable Cover Plate RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	24.61	24.61	19/04/2022



Number: MQ251474-1

Page 3 of 3

Münchner Weg 1 • 85232 Bergkirchen • Germany

	Item# / Description	Quantity	Unit Price	Amount	Ship Date
17	SR1.5-P4 4mm Compact Extension Rod, 1.5", Pack of 4 REACH: NoSVHC_223 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	26.24	26.24	19/04/2022
18	ER2-P4 Extension Rod 2 inch: Pack of 4 REACH: NoSVHC_223 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	21.71	21.71	19/04/2022
19	ER3-P4 Extension Rod 3 inch: Pack of 4 REACH: NoSVHC_223 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	23.48	23.48	19/04/2022
20	CP20D TTN223073, 30mm Cage Mounted ø20.0mm Iris REACH: NoSVHC_219 RoHS: A(compliant EU 2015/863) ECCN: EAR99 EU Control: Not-Listed	1.00	88.52	88.52	19/04/2022
21	LMU-5X-NUV MicroSpot Focusing Objectives, 5x, 325nm-500nm REACH: SVHC LEAD RoHS: Exempt6(c) ECCN: EAR99 EU Control: Not-Listed	1.00	1,196.77	1,196.77	19/04/2022
		Subtotal Shipping & Handling VAT 0% Grand Total		3,891.98 El	 IR
				19.50 El	
				0.00 EUR 3,911.48 EUR	

The ship date is valid when this quotation has been issued. While we strive to ensure that the lead times are as short as possible, the ship date might vary at the time the order is placed since our inventory is constantly changing.

US Export Administration Regulations and European Export Laws may apply to the sale, destination and end use of these items and any related technical data. Any diversion contrary to US and European export control regulations is strictly prohibited: www.bis.doc.gov

General Manager: Dr. Bruno Gross

Email: sales.de@thorlabs.com - Web: www.thorlabs.com

HRB: 85345/ Munich VAT-No.: DE 129 442 088

Please note our standard terms and conditions incl. WEEE

EAR:DE97581288

Phone: +49 8131 5956 0 • Fax: +49 8131 5956 99 • Email: sales.de@thorlabs.com